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Run 5791 mpswise, bpmAx: All Run 5791 mpswise, bpmAx: Beam OFF
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Run 5791 mpswise, bpmAy: All
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Run 5791 mpswise, bpmBx: Beam OFF
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Run 5791 mpswise, bpmBy: All Run 5791 mpswise, bpmBy: Beam OFF
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Run 5791 mpswise, beam ON, laser ON
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Run 5731 mpswise, beam ON, laser OFF
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Run 5791 mpswise, beam ON, laser ON
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Run 5791 mpswise, beam ON, laser ON
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Run 5791 mpswise, beam ON, laser ON
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Run 5791 mpswise, beam ON, laser ON
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Run 5791 mpswise, beam OFF, laser ON
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Run 5791 mpswise, beam OFF, laser OFF
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Run 5791 mpswise, beam ON, laser ON Run 5731 mpswise, beam ON, laser OFF
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Run 5791 mpswise, beam OFF, laser ON Run 5791 mpswise, beam OFF, laser OFF

BPM By

BPM By

&
II|IIII|IIII|IIII|IIII|IIII|IIII|I

T S TN TN NN NN SN NN TR SO N -y [ I AN N (N KNS NN (NN SRR NN NN S SN M SN NN MRS SN SR NN AN SR NN SN N B -

u—l
=
=
—
4]
=
]
=
=
(%]
Ln
—
]
=
=
L
=
—
=
=
—
Ln
—
%]
=
=
[
4]
=
Lad
=
=



